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_ _ — 30cm —
- o # 0 #
m m <o #2— o, lsod -
) 0.60 1.51 0.77] 1539 466.2, 348.7x 269.8  647.1o 525.2
B) 0.58 1.07 0.68]  160.1 561.9, 372.8« 204.8  692.20 556.8x
A3) 0.58 1.19 0.68]  183.4 533.2, 361.9 298.1 615.8, 475.3x
0.55 1.68 0.68] 1539 661.9, 271.1 158.1 717.1o 450.4x
1
/ = J° h *D on
_ _ — 30cm —
- 0 # o #
m m <o 2— o, lsod -
) 2.03 7.94 3.60 86.5 89.3, 88.4x 92.6 3915, 391.5
0! B) 245 791 4.48 88.5 99.9, 91.2% 99.4 194.3, 125.8«
s> e Q) 2.10 6.86 5.01 86.4 1029, 87.4x 120.1  165.8, 121.3«
1.18  8.66 3.85 85.4 118.8, 99.9 92.6 3915, 151.4x
1
/ — I 7 h D @°
_ _ — 30cm —
- 0 # 0 #
m m <o #2— o |sof z—
A 2.47 7.91 3.94 85.4 88.3, 87.1 87.5 407.9, 407.9¢
0! B) 2.69  10.01 5.14 87.2 99.3, 89.8x 100.5 280.20 124.6x
+) @0 Q) 2.50  6.36 4.23 85.2 1022, 86.5x 101.5 670.70 670.7x
1.93 10.01 4.00 84.2 102.20 89.8 86.1 674.1, 124.6x
1
/ — I 7 h D ov
_ _ — 30cm -
- 0 # 0 #
m m <o 2— 4« | =0 -
& 5.42 12.05 8.43 89.3 92.5, 91.0 923 1114, 109.6,
0! B 2.78  10.60 6.15 91.3 93.9, 93.9 107.7 522.3, 120.5
sD o Q) 422 8.19 6.15 89.2 924, 92.1x 106.2  128.2, 108.0x
2.78 1596 7.25 88.3 96.3, 95.8« 90.7 522.3, 107.7x
1
/ — I " h D @°P
_ _ — 30cm —
- 0 # 0 #
m m <o £— <o E—
A 291 7.93 3.91 89.1 92.3, 90.8« 93.0 466.6, 466.6x
) 2 2.37 8.72 5.05 91.0 102.6o 93.5« 103.8 274.2, 134.1x
sD @F (3) 2.74 851 5.32 88.9 922, 91.6x 104.5 302.40 139.0x
2.19 8.96 4.11 87.9 143.00 94.2 90.0 466.60 110.3x
1
/ - I 7 h D e
_ _ — 30cm —
- 0 # 0 #
m m <o £— . | <o =
&) 222 7.94 3.77 85.4 88.3, 87.1 89.8 3216, 321.6x
0! B) 276 8.28 4.66 87.2 99.0o 89.4x 100.6  260.8, 124.7x
-5 eu Q) 229 7.63 4.91 85.2 102.4o 88.0 108.2 151.9, 151.6x
2.04_ 828 4.12 84.2 102.40 89.4 86.4 32160 124.7x
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